20258 =0ila eS| =

H £ 0l & AF & S

Al A

A SAE M
ma: SR |UEN
el SX3HSEXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXE M 11,068,738 10,155,518 913,220
= 965,898
Jl 197,49
Al 6,057,019
- 3,848,322
SXEH Jgtxy 79,750 78,430 1,320
SXERSSAE 79,750 78,430 1,320
SXE MY 79,750 78,430 1,320
201 2egh=3| 1,800 1,280 520
01 At2t2ltl 1,800 1,280 520
O=aitl 1,800
—SANIHYRIUSZS4H|
9,000 5 +50 & +80%<E 2> 1,800
202 04| 4,000 3,200 800
01 2K 4,000 3,200 800
O=AEHE =0
20,0002 «5 S +502 xB0U<E &> 4,000
203 HR=H] 13,950 13,950
03 A=A R =NH] 13,950 13,950
OS2 SAI P RFN
12,000, 0003 *90%<E 24> 10,800
OSXAH#GR=A
3,500, 0002 x90%<E 24> 3,180
204 MR AH| 60,000 60,000
2 SELR3H 60,000 60,000
otelgstI(SsX238=6=2013t)
50,0002 x100E «12& 60,000
SXTH MHIA A 329,700 335,790 26,090
Al 254,620
- 75,080
ASAI2FE2AM A 114,680 122,770 /8,090
Al 45,140
- 69,540
NeAte| 28N 22 20,880 20,432 448
201 el 17,280 17,232 48
01 At22t2lt] 17,280 17,232 48
Odgt=3ZH| 3,360
— A= (Z})
10,0002 *200 2 +80%<& &> 1,600
—3o|2E+SHI(AFE, HS)
2,200,000 «80%<E 2> 1,760
O=2g=+¢ 13,920
— NG EH(HE)E AN AR+
100,000 312 x32/xB0%<E 2> 7,440




2A SXNE
M SXXE AHIA S

chel: XIGAIBI R E IR X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=N = P,
100, 0002 x22& x32| xB0%<E 2> 5,280
— XM EHEAM (A REM) A
20,0002 x25EH +33|x80%<E &> 1,200
301 22N = 3,600 3,200 400
11 AALREIXIES 3,600 3,200 400
ORI AL 2 &8 O RIS 2B AL R O 2 AL
9,000 *x200& *23] 3,600
XA EZE AN AHR=2 2L (AlHI) 50,200 48,738 1,462
Al 35,140
- 15,060
307 el2to| & 50,200 48,738 1,462
Al 35,140
- 15,060
03 PIZHHEE 22X 50,200 48,738 1,462
OXHAR 2HE AR =21 24|
50,200,000 50,200
Al 35,140
- 15,060
NHABI M 2SR (AlH]) 10,000 20,000 10,000
Al 10,000
307 212+01& 10,000 20,000 10,000
Al 10,000
02 2B YAIHE £ 10,000 20,000 10,000
OXSAMSIEHEAM 2 E ALY
10,000,000 10,000
Al 10,000
SN2 EANE LN 33,600 33,600 0
201 eer23| 12,000 12,000
01 AtR2t2lHI 12,000 12,000
o2Yyay 12,000
N R RS
1,000,000& 1290 = 12,000
301 EtE NS 21,600 21,600
02 MBI 2HHSFHS(HAANS, XLH 21,600 21,600
OSASAR 2SN 0= X S2tAt
1,800,000 1200 = 21,600
Ao Et=t 209,480 207,480 2,000
Al 209,480
ol RS0 2L = (AIHI) 209,480 207,480 2,000
Al 209,480
201 et 3| 2,480 480 2,000
Al 2,480
01 At2teltl 2,000 0 2,000




S SXHBD
Hu: =X AL o

el Tol—s (B9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odit=3=H| 2,000
—SAIFHA LM 2
200,000&*10H 2,000
Al 2,000
2 s5=34l 480 480 0
OZZ22ZHAl 480
— Mol =S AHHEI0IE2
20,0003 » 122 240
Al 240
JIRIH K 1,200 *200H 240
Al 240
301 EtE N = 7,000 7,000 0
Al 7,000
11 HAIMHIXI R 3 7,000 7,000 0
Ol d ==& X2
140,000 +50& 7,000
Al 7,000
302 OI== a2 &= 200,000 200,000 0
Al 200,000
02 2RI S ES243 200,000 200,000 0
ONeisHSS =24
200,000,000 200,000
Al 200,000
SAFdgdatiz 5,540 5,540 0
SNFdgdatia 5,540 5,540 0
307 gl2to| & 5,540 5,540 0
02 QIZHEAAEE X 5,540 5,540 0
OsAeFdadatNAI
5,540,000& 5,540
SEA SN AEIA X 3,589, 141 3,404,749 184,392
Al 2,946,480
- 642,661
A2l SXAEIA S8 3,589, 141 3,404,749 184,392
Al 2,946,480
- 642,661
Atal=X12 2 (AlHl) 2,508,545 2,3%,571 111,974
Al 2,132,263
- 376,282
307 212+01& 2,508,545 2,3%,571 111,974
Al 2,132,263
T 376,282
05 21t =2 2,508,545 2,396,571 111,974
OMSIEXI2IAHHI(HE, Sl HS)
2,327,585,000& 2,327,585




2A:
PSR
ool

SINESES N}
SEARI SN AHIA XIS
AMEISXIAEIA SE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,078,447
= 39,138
OAsI= N2 (Y, Fel, ¥E)
180,960,000 180,960
Al 153,816
- 27,144
A ALSIS X2t 2S(AlH]) 791,266 732,675 58,591
Al 672,577
- 118,689
307 glztol & 791,266 732,675 58,591
Al 672,577
T 118,689
10 Al SXAIEEHE2EHI2x 791,266 732,675 58,591
OU&E Atz S A2l 21|
737,143,000 737,143
Al 626,572
- 110,571
OU &A= 223
54,123,000 54,123
Al 46,005
- 8,118
AEISX2 SAK SELH(AlH]) 64,800 61,200 3,600
Al 32,400
- 32,400
307 gl2to| & 64,800 61,200 3,600
Al 32,400
- 32,400
10 Al SXAI2EE 22X 64,800 61,200 3,600
OAL2I SXZSANSE =
64,800,000 64,800
Al 32,400
- 32,400
Atsl= X2 T2 2HH|(AlH]) 152,000 162,000 0
Al 76,000
- 76,000
307 el2to| & 162,000 162,000 0
Al 76,000
- 76,000
1 AMISXAIEEX 152,000 152,000 0
OAtZISX2ZZ2 1323
152,000,000 152,000
Al 76,000
- 76,000
MEAN SIS 2H(AlH]) 14,000 14,000 0




2A:

E M

SINESES N}
SEARI SN AHIA XIS

Rl AlRISXIAHIA S (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,000
T 7,000
307 lztol & 14,000 14,000 0
Al 7,000
- 7,000
11 AMEISXAIEEXS 14,000 14,000 0
OMEHSSBSH(TIA)
14,000,000 14,000
Al 7,000
- 7,000
AEIFX 22 10,010 1,213 8,797
201 2= 9,226 429 8,797
01 At22t2ltl 483 429 54
O=aitl 483
— AR SX2E TS A
9, 00094*1‘:” 67 L +80%<E 2> 483
02 S3=gHl 8,743 0 8,743
OAI2&EbBI= X 8,743
—HESSARSX2HAER A
3,530&%2,476.53m 8,743
202 04l 784 784
01 2LHoIH 784 784
OAt2 S X2 S22 01H]
20,0003 * 12 #4092 +80%<E 2> 784
ASISXIAIE SAK M2 E X2 (AlH]) 11,520 11,490 30
Al 7,740
- 3,780
307 @I2t01 & 11,520 11,490 30
Al 7,740
- 3,780
06 2= 11,520 11,490 30
OMISXA LSS X2
11,520,000 11,520
Al 7,740
- 3,780
ABIST2E SAIR ASAHI(AlIE]) 32,400 30,600 1,800
Al 16,200
- 16,200
307 21201 & 32,400 30,600 1,800
Al 16,200
- 16,200
10 Al2ISTIAIEEE 22X 32,400 30,600 1,800
OAt2| S ZSAE A S A
32,400,000 32,400




S =X
Hu: ZBAMSISXMHIA X2

Rl AlRISXIAHIA S (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 16,200
T 16,200
ABIS X2t ZALAE SERAZBEIHI(AIHI) 4,600 5,000 2400
Al 2,300
- 2,300
307 gl2to| & 4,600 5,000 2400
Al 2,300
- 2,300
10 Al SXA2EE 22X 4,600 5,000 A400
OAtI ST 2EAAS S A 2 S &
4,600,000 4,600
Al 2,300
- 2,300
=t 28 22l € A& 3,105,048 2,824,422 280,626
Al 1,759,200
- 1,345,848
=)t=34 0« 3,105,048 2,824,422 280,626
Al 1,759,200
- 1,345,848
=tR3A U< 453,684 443,44 10,190
201 er2 3| 1,890 1,890 0
01 At2t2lt] 1,890 1,890 0
Oggesta(22aes)
150,000 #32] 450
OEEAZYZHASTENH
1,800, 0002 x80%<& 2> 1,440
301 22N = 256,200 256,200
02 ANRI2HHHS(HAAS, NLHE) 252,200 252,200
OEsHaNEER2
50,0002 *2,000& =22 200,000
ORNRBTRALEINES
20,0002 *2,500H 50,000
OSERSM=SAE
100,000 x22H 2,200
11 AALEEIXIE S 4,000 4,000 0
O8ELEE2INEZENEL
10,0002 400 «13] 4,000
307 elztol & 195,594 185,404 10,190
02 2IZHBYAIHE & 73,718 72,968 750
OH0IZ 2 UE X2 AIHBI XA
8,370,000& 8,370
Od=ZdF7EUE XA LB
9,080,000 9,080
ONEZZ0ILLZHE R XIS AFAHIXI A
8,190,000& 8,190




S SXEBD
ma: 20} 22 el Y KR

Rl RS 2 EER=E)
~ L=
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFS+=2M2UE XS AEEI X2
11,855,000& 11,855
06. 2588 =S Ata|tHE X2l AFHBI X
13,600,000 13,600
ONENEL2AUE XIS AL X2
10,228,000& 10,228
OS+dRFSNAUE XS AFAHIXI A
5,155,000& 5,15
OZgdEE A2 S X 2/ At B X2
7,240,000 7,240
03 M EHE2SHIEX 121,876 112,436 9,440
Od0IzZUE R XI22HHIXH
15,705,000& 15,705
OLERE R T EEWE TP
15,705,000& 15,705
O&ES=301Y3HE X2 2ZHIXA
15,705,000& 16,705
OFS+2A2U=E X238 X2
15,581,000& 15,581
0. 252N HE P& 2SHIXI=
16,195,000& 16,195
OLENELAUE XS 2SHIXH
16, 175,000& 16,175
OExdR2FSNHUHE XS 2EHIXH
11,335,000 11,335
O AN NG AR 2 2SN
15,475,000& 15,475
HEFS LU= (AlIL]) 1,435,200 1,317,600 117,600
Al 1,435,200
301 LEtE NS 1,435,200 1,317,600 117,600
Al 1,435,200
02 ARSI 2E AT S(FIANS, XLETHE) 1,435,200 1,317,600 117,600
OF=FSEE NG R =
120,000 +670E < 12 964,800
Al 964,800
OFHF SR A==
80,0002 x490E «12& 470,400
Al 470,400
FERSHEUH=E 643,200 438,000 205,200
301 LEtE NS 643,200 438,000 205,200
02 ARSI 2E AT S(FIANS, XLETHE) 643,200 438,000 205,200
OF RSN =
80,0003 +670E «12& 643,200
HUSFSHIE 14,000 14,000
301 LEtE NS 14,000 14,000
02 A2 XSG (FHAAHS, NLWE) 14,000 14,000




£A: SXNZEHD
My 20 P& 22 L A
&t =II=SA olR (EEEE))
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OETRSAAILRAZS
200,0002 70 14,000
2232 24 18,534 18,534
201 Ler2 | 18,534 18,534
01 At 22|l 3,852 3,852
Ogt==H| 2,220
—SOIETAIAHALRR
90,000& x2S+ 122 2,160
—HIIQEE Y ALT
60,0002 *1JH 2 60
ogxz 1,632
—3JIEEIISX=
34,0003 =12 *40H 1,632
02 E324H| 14,682 14,682 0
OAIZEHIR I 2,982
— A== Xl 4,0302+369.9m x200 = 2,982
O3S2ZLHA 11,700
—&IIRe3 450,000 x2S+ 128 10,800
—&ot+=ER3
25,000 x2S+ 128 600
—dxSHHA S HI2]
40,0002 *x20 = 80
—Moll=+3 M2l
110,0002 *2)H = 220
CHE A& IS I 22,030 16,794 5,236
307 QI2H0| M 22,030 16,794 5,236
02 QIRHEAAIHE B X 10,330 9,030 1,300
OUE et elS|ArH I XI&
10,330,000& 10,330
03 QI HE2GHIEX 11,700 7,764 3,936
Ol Het=2els| 2| XI&
11,700,000& 11,700
BEM+L(AlH]) 324,000 360,000 A36,000
Al 324,000
301 LetEEF 324,000 360,000 236,000
Al 324,000
02 MBI EEHGS(HUAS, XLTHEA) 324,000 360,000 236,000
Ooesl=*=% 50,0003 +540H 122 324,000
Al 324,000
2202+ 194,400 216,000 221,600
301 LBENZ 194,400 216,000 221,600
02 MBI B2 (HUAS, NLTHEA) 194,400 216,000 A21,600
Ooe=sl=*=% 30,0003 +b40H 122 194,400
NG SEES 1,481,748 1,498,436 216,688
= 528,300




A SR
M NGMeISE=ES
el XgAe SE=8 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 563,150
T 390,298
XAtz SetE=s N2 1,481,748 1,498,436 16,688
= 528,300
Al 563,150
- 390,298
NEMBISESS(HFLIEDNN) =& 12,020 19,700 AT,680
201 =3 12,020 19,700 AT,680
01 At2t2lt] 11,520 19,200 AT,680
O=2g8=+d 11,520
—HolBISEALY
100,000 182 »82| xB0%<E 2> 11,520
02 S3=gHl 500 500 0
OAIE2EBI= X 500
—ANIESIDIS X2t
500,000& *14] 500
KSAe SetEes 22 9.128 8,736 392
201 Ler23| 3,528 3,136 392
01 At2teltl 3,528 3,136 392
OS24l 3,528
NENEE TS I E W
9,000 *7 S +70L +80%<E 2> 3,528
202 04| 5,600 5,600
01 =LHOLI 5,600 5,600
OXlgAtzl Se =S 20|
20,0003 7 *x50L «80%<E &> 5,600
NG SESS(HSSE) A (AlH]) 350,000 350,000 0
Al 245,000
- 105,000
101 @12A4H| 37,000 37,000 0
Al 25,900
- 11,100
04 JIZtN22 XS E 37,000 37,000 0
OXIgAtel Se=3012|
37,000,000 37,000
Al 25,900
- 11,100
201 Ler23| 158,400 0 158,400
Al 110,880
- 47,520
01 AtR2t2|HI 158,400 0 158,400
OtlEXs=SZ A
66,0002 *200CH = 1204 = 158,400
Al 110,880




A SR
M NSNS SEES
el XgAe SE=8 X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 47,520
301 LEtE NS 154,600 313,000 158,400
Al 108,220
- 46,380
02 MBI 2HHSFS(FHAANS, XLHE) 154,600 313,000 A158,400
OXIS A2 Se=3 A
154,600,000 154,600
Al 108,220
- 46,380
U2y =SHA 283 X2 54,000 55,000 21,000
Al 54,000
307 lztol & 54,000 55,000 21,000
Al 54,000
02 QB HANSEER 54,000 55,000 21,000
OLr2gaSsSHAHZ s (AlH])
54,000,000 54,000
Al 54,000
Lol Sle=s SEAE ABAY 1,056,600 1,065,000 28,400
= 528,300
Al 264,150
- 264,150
101 @124H| 148,000 185,000 A37,000
= 74,000
Al 37,000
- 37,000
MU ORINZENSES 148,000 185,000 A37,000
OY oS ANAHE LAY (GUHEH 2 EE)
148,000,000 148,000
= 74,000
Al 37,000
T 37,000
201 er2 3| 40,000 60,000 /20,000
= 20,000
Al 10,000
T 10,000
01 At2teltl 20,000 30,000 10,000
Oget+=ZHI 20,000
— QA (NFHT, BARS)
15,000,000 15,000
= 7,500
Al 3,750
- 3,750
—dERASNHHHZS A
5,000,000& 5,000




A SXEHDt
B KASIEHEE
=els XGAe SEEs XN (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
= 2,500
Al 1,250
- 1,250
03 At2ZH] 20,000 30,000 210,000
OppgzzLsieA A (gl AT
20,000,000& 20,000
= 10,000
Al 5,000
- 5,000
301 LetENEZ 513,600 586,000 AT2,400
= 256,800
Al 128,400
- 128,400
01 A 2&ASH 2 (FREETR) 430,000 476,000 A46,000
OLolo|REEE ST /ALY
GBil=sEss) 430,000,000 430,000
= 215,000
Al 107,500
- 107,500
14 JIEt2 43 83,600 110,000 A26,400
OnlZEHS=H NS L T
(RLIHYEH2YS) 58,600,000& 58,600
= 29,300
Al 14,650
= 14,650
O ST AHIAKIR (2, 512)
50,000& *50024 25,000
= 12,500
Al 6,250
- 6,250
307 QI2H0| A 355,000 234,000 121,000
= 177,500
Al 88,750
- 88,750
02 QIR AAIHEE X 325,000 234,000 91,000
OssSHLE 2N
159,000,000& 159,000
= 79,500
Al 39,750
- 39,750
OZEXAH 24 MBI
20,000,000& 20,000
= 10,000
Al 5,000
- 5,000




A SR
M NSNS SEES
=l XFAte sgEs A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OASIH YA LA (S| REXS)
30,000,000& 30,000
= 15,000
Al 7,500
= 7,500
OOl TS H (UXIBS)
5,000,000& 5,000
= 2,500
Al 1,250
= 1,250
OSEAASWOIA| (522 EE)
111,000,000 111,000
= 55,500
Al 27,750
T 27,750
11 AMEISXAIEEXS 30,000 0 30,000
@EI[CTINE b
30,000,000 30,000
= 15,000
Al 7,500
- 7,500
s 54 2 o 930,500 402,118 528,382
= 345,000
Al 345,000
- 240,500
FEEM g 2 = 930,500 402,118 528,382
= 345,000
Al 345,000
- 240,500
A HE YA 33,682 6,640 27,042
201 er23| 30,658 3,360 27,298
01 AtR2t2|HI 30,658 3,360 27,298
Odgt==d| 27,298
~HABYESSHAE
2,000 600 +80%<E 24> 960
— NS |IFEIHI | 2HE-EES
26,338,000& 26,338
Oo=2g=¢g 3,360
—HEUHMARIRH(ZW=EE)
150,000 * 10 +23] +80%<E 2> 2,400
—JESAFEI 28T =2Y
(ZEEE)
180,000 +8E * 13| xB0%<E &> 960
301 EtE N = 3,024 3,280 A256
14 DBt 2 a=S 3,024 3,280 VAVESS)
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2A: EXNF-=
B HAd ©5 U 84
el Adset A =4 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 310,214 309,922 292
| 155,107
Al 77,554
- 77,553
11 Al SXAMEE R 310,214 309,922 292
OFAHYNSOPIHI0I2E XIS
310,214,000& 310,214
| 155,107
Al 77,554
- 77,553
HAEXIZAF BIXIXI2(=28]) 52,640 50,736 1,904
| 15,792
- 36,848
307 212+01 A 52,640 50,736 1,904
| 15,792
- 36,848
11 Al =SXAMEES 52,640 50,736 1,904
OFEAE XIS AKX XA
52,640,000& 52,640
| 15,792
- 36,848
il SEXA(34H) 38,000 38,000 0
| 26,600
Al 5,700
- 5,700
301 LEBNF 38,000 38,000 0
| 26,600
Al 5,700
- 5,700
01 AISIBE X 2GS (2 RETME) 38,000 38,000 0
OFEAEEEXH 38,000,000 38,000
| 26,600
Al 5,700
- 5,700
HEEAEM2IEE X2 (2Y]) 185,196 173,200 11,996
= 92,598
Al 46,299
- 46,299
308 AtXIHMSOI & 185,196 173,200 11,99
= 92,598
Al 46,29
- 46,299
13 BI |2 SUICHEHE A XL EF ALY 185,196 173,200 11,99




2A:

B HAE P95 U 54
el Adset A =4 EEED
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
SCEEPSErEEESE
185,196,000 185,196
= 92,598
Al 46,29
- 46,29
HAEUSSIHAEIY XA 10,000 10,000 0
307 21Z2H0| ™ 10,000 10,000
04 QIZISHAFAIH B2 X 10,000 10,000
OFAEZ2FHHAEIE XA
10,000,000& 10,000
HAANS=2XHEH 2HHI(AlH]) 118,032 168,353 N50,321
Al 59,016
- 59,016
307 2I12+0| & 118,032 168,353 N50,321
Al 59,016
- 59,016
05 QIZtREZ 118,032 0 118,032
OFAEAME2T|HEH2Y(AH])
118,032,000 118,032
Al 59,016
- 59,016
HAEAMS=RMEH L SSHSHHAEAJAEH 2HAA 15,052 68,170 A53,118
405 KHF S| 15,052 68,170 N53,118
01 IIME =2 EFSH| 15,052 68,170 N53,118
OFAGEAE=SAHEH A 4,666
— A 330,000 * 14 330
—3EHH|R 220,000 *8H 1,760
—=LEHI0I2 163,000 *8IH 1,304
—=2Z2I Xt 99,000& *8IH 792
—MEZOI X} 120, 0003 *4 480
OFAEMESZ2X|HIEAIR A 10,386
—HHISX (ALE) 220,000 = 1204 2,640
—AHIS (2 E) 220,000 = 12J4 2,640
— 3|2 Z oAt 99,000& *4 4 3%
— AR S A 260, 0003 *2JH 520
—AIRE2I Xt 187,000 *2JH 374
—&HAERE 150,000 *2JH 300
—0AZ+EHO0] 147,000 *8H 1,176
—CHIsAFRI121(PC)
1,170,000 *x2CH 2,340
HMSAAH| (S A=) 86,601 80,220 6,381
ol 2HH| 64,244 58,189 6,055
ol 29| 64,244 58,189 6,055




A SXNEH
M HYRAZH(SXFHL)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 64,244 58,189 6,055
01 &= 64,244 58,189 6,055
OARRIeIRR4g
11,6023 x 162 *30A| 2+ 123 » 1. 03+80%<E 2>
64,244
Jl=23H| 22,357 22,031 326
Jl=23H] 22,357 22,031 326
201 er=2 3| 12,770 12,444 326
01 AtR2te|HI 12,770 12,444 326
OgwtagH) 7,530
LR =T
10,040,000 #75%<& &> 7,530
OZAlH| 2,938
—RhRgREAIAY)
9,000 * 17 *24 2 x80U<E &> 2,938
Ogxt= 2,302
—&A=EADIEE
99,0002+ 1CH 122 1,188
—deHAIIYNR
59,900 x1CH+ 122 719
—SIIE IS RE
32,9003~ 10 =122 3%
202 04| 2,687 2,687
01 2LHoIH 2,687 2,687
O=ASHGRFA0L
97,4003 » 4 +32U #23| +80U<E 2> 1,871
ORANEgE =N
20,0003 * 17 +3L «80%<E 2> 816
203 =4l 6,900 6,900
01 D122 HARFA| 3,300 3,300
Ol 22IdRFaH|(SX2=F)
3,300,000& 3,300
M EAEER=A 3,600 3,600 0
ORNEgE =AY
300,000 x 12 3,600




